New Maths GCSE: R9 - Percentage of an Amount

Correct Answer: ABCD
What is 40% of 200 g? Explanation:

(A)

(B) € Hl e —————
(C) gl
(D)

Correct Answer: ABCD

What is 15% of 2 km? Explanation:

(A) wom W ——————
k=) IS0m W s
(©)  300m e eeeeessens

(D) IS(X) M Pl e

Correct Answer: ABCD
. " 5
What is 20% of £5- Explanation:
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Find....
10 % of so
A) 8 B) 20
C) 40 D) 0.8
WWW.COoP/-ONIINE.CO.UK
Find....
25 % of 60
A) 6 B) 15
C) 7.5 D) 20
WWW.COOP /-ONIINE.CO.UK
Find....
1 % of 400
A) 0.4 B) 40
) 0.04 D) 4
WWW.COoP/-ONIINE.CO.UK

Whatis 20% of £5?

£10
£20
£1

50p

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:
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Correct Answer: ABCD

Whatis 15% of £3007? Explanation:

P Tl
5 £450 e
c £15

p £4.50

Correct Answer: ABCD
If there are 600 pupils in a High school, and 40%

of the pupils are boys. What is the of girls in the school? Exp|anati0n:
number
Answer A-413gils  gEEEE. g | e

Answer B - 375 girls

Answer C - 360 girls

AnswerD-599gils  Rame  «P |

Correct Answer: ABCD

To find 3% of something you... Explanation:

A)x0.3 B)x 0,03 | s
_—p gl | e————

This quiz was created on www.diagnosticquestions.com. 3



	New Maths GCSE: R9 - Percentage of an Amount

